restart

Ecuacion = diff (y(x), x) — (x) =0

X2
Ecuacion = % y(x) — % =0
1
p x--2
) 1
pP="—
X
IntP = int(p, x)
IntP := 1
X

SolucionGeneral = y(x) = C,-exp( - IntP)
1

SolucionGeneral .=y (x) =C, e o

Comprobacion = simplify(eval(subs(y(x) =rhs(SolucionGeneral), Ecuacion) ) )

Comprobacion :=0=0

SolGral = dsolve( Ecuacion)

SolGral =y(x)= Cle *

restart
Ecuacion = diff (y(x),x) +4-y(x) =3-exp(3-x)
FEcuacion = E y(x) +4y(x)=3 e
a, = 4; q = rhs(Ecuacion)
a, =
q:=3 e3x
SolucionGeneral := y(x) =Simpliﬁz( Cl-exp( —al-x) + exp( —al-x) -int(exp(al-x) °q, x) )
SolucionGeneral == y(x) = C, e 4 % e

SolGral = expand(dsolve( Ecuacion))

3
SolGral :=y(x) =% (ex) + ¢l

restart
Ecuacion = diff (y(x),x) +5-y(x) =24-exp(x) +5-x--2 +2-x

Ecuacion = % y(x) +5y(x)=24¢€+5 P 42x

SolGral = dsolve(Ecuacion)
SolGral :=y(x) =4 +x* +e°* CI

0y

()]

(&)

(C))

(C))

()

)

®

®

(10)

an

(12)



